AR=ORY—LR—IRE (BIER) 20185F9AE
S RBERR
e AR fEgk B SAXR L8
ey ATA X
A Rit A A&t =Pz ) A
9578 72 72 0 0 0 0 72 0 0
- Et 2697 2,757 11 95 15 39 2,753 56 -4
HN.RE=E 460 484 2 28 0 2 486 26 2
TIOT1ETAEBHRE
IEH A & 2
SRETIVTAETA 783 % 10,701,543 M 1,111 i 41,714,253 M
EXETER 5 #* 1,490,858 M 12 1 5,139,729 M
FATIT1ETA 98 3 5436.5 269 1 11,538
ik 10 % 313000  cc 20 #* 730,600  cc
TANDOERE 0 A 0 A
AIERIE 0 A 0 A
EWEAMLESRE G 2 1 8 o2
EWELAKLERE THEHK 203 £ 1,971 %
FERFATF 138,673 L4 369,434 M
EEELEE 46 L 478 L5
EREAT)A 38 L5 868 L5
flx. 7OTAETAEDBHFEY 209 £ 1,287 %
JoavilsE#
‘ o Ty R 1Z 27 3z
A T swan | BRM | giog | BRM | giig | 2RE | ghig
1 2 13 66.7 578 150 256 64 322 86
2 2 15 64.1 599 117 332 68 267 49
3 2 9 72.6 382 56 234 44 148 12
4 2 12 79.4 374 53 256 31 118 22
5 3 15 56.7 459 69 205 41 126 28 128 0
6 2 8 63.6 361 41 154 13 207 28
B 13 72 67.2 2,753 486 1,437 261 1,188 225 128 0




WA —F vy THEL100%H FEHISR#ELC
FLIRBIRELC E <&
LtLvbLe £l
FLIRR/—FETLC EZHE
H{ZLC FIHI=

WL AMJIF 22 0
LKA FiF (F(LIRZB>T47) 2 @H
L & & (f(LIRZB>T47) 6 B H
LEBE =& ALWRZOa>T47) 3 [EH
LKH 7 (FLIRZOVT47) 4 BB
LNs 28 (F(LIRZB>T47) 4 BB
L=F FR (#(LIRZO>T47) 1 [EH
L hnigk & (FLIRZO>T47) 1 [@H
L X% #04d (#L1E:FH) 4 BB
LmH#F E (ALMR:ER) 17 [ H
L AR =iA (FL1E:EE) 7 @ H
L FiE B (#L1E:FH) 5 BB
LA BT (#L1E:FH) 17 [EH
L KA —1& ((LIRFH) 3 EB
L#Ils F= (ALMR S B) 78 [A1H
L ge& m’EXx (ALBRTIL L) 22 [A1H
L &ith IER ((LIRFESD P F) 1 [@H
LAl 1EE ((LIRFESDPF) 2 @H
L& % ((LIRFESDPF) 3 EIB
L RE #WE (ALIRFE D F) 3EB
LML 8t ((LIRT T Z=D) 8 BB
L IUE BB GENlhR) 38 BB

LA A (F %) 3 [EH



